FIN630 11 PAPER SUBJECTIVE

SOLVE BY DUA WAQAR

Paper#01 spring 2009
Question No: 31      (Marks: 5)
A company is paying $0.60 in dividends and the required rate of return is 6%.Company is selling the stocks at $12. Assume 2% growth rate. Figure out the current value of the stock. By keeping in view your answer, Explain whether the stock is overvalued or undervalued.
P0 = D0 (1+G)/R-G

=.60(1+.02)/ (.06 – .04) = 15.3

Stock price 12 is undervalued.
Question No: 32      (Marks: 10)
a) Describe the role of price-earning ratio in determining value of stocks.
Price earning one of the most widely used ratios. It compares the current price with earnings to see if a stock is over or under valued. Generally a high P/E ratio means that investors are anticipating higher growth in the future. If growth is less then P/E Ratio is also less

b) Price earning (Market price per share/Earning per share) ratios tend to be high when inflation and interest rates are low. Do you agree with this statement? Justify your answer.
Yes I agree

P/E ratios tend to be high when inflation and interest rates are low because when earnings are growing and the upward profit trend appears to be sustainable; investors are willing to pay, more for today’s earnings. P/E ratios and interest rates are indirectly related

Paper#02 spring 2009
Question No: 31 (Marks: 5)
Differentiate between income stocks and penny stocks.

Income Stocks are those stocks that have paid a larger than average percentage of their income on regular basis. The best examples of income stocks are public utilities such as electric companies, telephone companies and natural gas companies
Penny stocks are unusually risky stocks especially in expensive share. For example one graduate student on 250000 shares in the small companies an impressive statistics. In reality however every time he mailed a letter to a firm the stamp cost him the equivalent of 960 shares. This firm would satisfy anyone’s definition of a penny stock.
Question No: 32 ( Marks: 10 )

Define short selling and describe the procedure of short selling in detail.
Selling Short: SS
A short sale involves borrowing securities, selling them to someone else, eventually purchasing similar shares from someone else, and delivering these substitute shares to the original lender.

Short sellers sell first and buy later
The short seller has an eventual obligation to replace the borrowed shares.

Short sellers must pay any dividends to the person from whom the stock was borrowed.
There are regulatory constraints in different parts of the world where may be short selling is not allowed. Locally short selling is not permitted in the regular market but short selling is permitted in the future market

Paper#03 (2010)
Question No: 29 ( Marks: 3 )

Keeping in view the business cycle, describe which industries are least sensitive to changes in the economy? Give two examples.

· Growth industries: 

· Earnings expected to be significantly above the average of all industries.

· Growth stocks suffer less during a recession.

· Defensive industries:

· Least affected by recessions and economic adversity.

· Cyclical industries:

· Most affected by recessions and economic adversity.

· “Bought to be sold”.

· Counter-cyclical industries exist as well.

· Interest-sensitive industries:

· Particularly sensitive to expectations about changes in interest rates.

· Careful analysis of business cycle and likely movements in interest rates help make better buy/sell decisions.

Question No: 30 ( Marks: 3 )

Outline the rationale for sector rotation?

This strategy involves shifting sector weights in the portfolio in order to take advantage of those sectors that are expected to do relatively better and avoid or deemphasize those sectors that are expected to do relatively worse. Investors employing this strategy are betting that particular sectors will repeat their price performance relative to the current phase of the business and credit cycle.

Benefit from sectors expected to perform relatively well and de-emphasize sectors expected to perform poorly

Question No: 31 (Marks: 5 )(Repeated)
Differentiate between income stocks and penny stocks.

Question No: 32 ( Marks: 5 )

A company is paying $0.60 in dividends and the required rate of return is 6%.Company is selling the stocks at $12. Assume 2% growth rate. Figure out the current value of the stock. By keeping in view your answer Explain whether the stock is overvalued or undervalued.

Paper#04 (2010)
Question No: 29   (Marks: 3)  

Outline the rationale for sector rotation?   

Question No: 30   (Marks: 3)  

What is meant by cooking the books? What measures should be taken to avoid it?
Knowingly providing incorrect information in a company’s financial statement
Cooking the books is an unethical practice of misrepresenting company's financial standing. When cooking the books, corporations typically manipulate their accounting records and financial statements. 
 

Question No: 31   (Marks: 5)  

What is the purpose of ratio analysis?

Ratio analysis isn't just comparing different numbers from the balance sheet, income statement, and cash flow statement. It's comparing the number against previous years, other companies, the industry, or even the economy in general.

By using the ratio analysis we come to know our business is how much profitable? Mean to know business profit

 

Question No: 32   ( Marks: 5 )

What is meant by the required rate of return?

 The shareholders’ required rate of return is the sum of the expected sum of the expected dividend yield and the expected stock price appreciation.
The required rate of return was the discount rate for valuing common stocks. The required rate of return for a common stock, or any security, is defined as the minimum expected rate of return needed to induce an investor to purchase it, is, given its risk, a security must offer some minimum expected return before par investor can be persuaded to buy it.
·  A function of risk less rate and risk premium.

k = RF + Risk premium

· Constant growth version of dividend discount model can be rearranged so that.

k = (D1/P0) +g

Paper#05 (2009)
Question No: 29   ( Marks: 3 ) (Repeated)
Outline the rationale for sector rotation?

Question No: 30   ( Marks: 3 )

Keeping in view the business cycle, describe which industries are least sensitive to changes in the economy? Give two examples.
Question No: 31   (Marks: 5)
Why is industry analysis valuable?

Porter’s competitive strategy analysis helps evaluate industry prospects.

· Threat of new entrants.

· Bargaining power of buyers.

· Rivalry between existing competitors.

· Substitute products or services. 

· Bargaining power of suppliers.

A standard approach to industry analysis is the competitive strategy analysis framework proposed by Michael Porter in 1980. By considering each of these five elements of industry structure, a financial analyst will develop a better estimate of how the industry is likely to fare in the forthcoming economic environment. Having determined which industries currently seem attractive, the next step is recommending specific firms within the industry.

Question No: 32   (Marks: 5)
State any five objectives of studying balance sheet in fundamental analysis?

The balance sheet is the fundamental report of a company's possessions, debts and capital invested. Before investing in any company, an investor can use the balance sheet to examine the following: 

· Can the firm meet its financial obligations? 

· How much money has already been invested in this company? 

· Is the company overly indebted? 

· What kind of assets has the company purchased with its financing?

· Highlights the financial condition of a company at any single point of time. This is important; the cash flow and income statements record performance over a period of time, while the balance sheet is a snapshot in time.

· It lists all of the assets held by a company in addition to the portion of those assets that are financed by debt (liabilities) or equity (retained earnings and stock).

· The analysis of a balance sheet can identify potential liquidity problems. 

· These may signify the company's inability to meet financial obligations. 

· An investor could also spot the degree to which a company is leveraged, or indebted. 

Paper#06
Q. Explain two components of Required Rate of Return?3
Required rate of return is the sum of two components: the expected dividend yield on the stock and the expected growth rate. If the dividend yield is a constant, g represents the anticipated capital appreciation in the stock price.
Dividend Yield: A financial ratio that shows how much a company pays out in dividends each year relative to its share price. Dividend Yield = Annual Dividends / Current Market Share Price

Q. How will you perform technical analysis in Dow Theory? 3

The Dow Theory is based on the price movement of the Dow Jones Industrial Average (DJIA). Changes in the primary trend of the DJIA are confirmed by the Dow Jones Transportation Average. The Dow Theory holds that there are three components in the movement of stock prices.

· Primary Trend: Called “the tide” by Dow, this is the trend that defines the long-term direction (up to several years).  Others have called this a “secular” bull or bear market.

· Secondary Trend: Called “the waves” by Dow, this is shorter-term departures from the primary trend (weeks to months). These can occur between major trends.

· Day to day fluctuations: Little ripples between bigger waves and bigger tides. Small intraday ripple affects or small changes do not matter in the bigger scheme of affairs.

Q. Describe top-down valuation? Marks 3

Top-Down Approach to Fundamental Analysis:

The top-down approach is the opposite of the bottom-up approach. Investors begin with the economy and the overall market, considering such important factors as interest rates and inflation. The next consider future industry prospects or sectors of the economy that are likely to do particularly well (particularly poorly). Finally, having decided that macro factors are favorable to investing, and having determined which parts of the overall economy are likely to perform well, individual companies are analyzed.
Q. A Company pays dividend $ 0.60. Stock price is $12. Growth rate is 2%. Required rate of return is 6%, what will be the stock value? is it overvalued or undervalued? 5 marks
Paper#07
Why you as investor would prefer investing in money market mutual funds (3)
Money market funds concentrate on short-term investing by holding portfolios of money market assets. Money market deposit accounts (MMDAs) pay competitive money market rates and are insured, and therefore have attracted large amounts of funds.

· Taxable or tax-exempt

· Average maturity limit: 90 days.

· Investors pay a management fee but not a sales or redemption charge (load).

· Not insured by the federal government. 

Why it is difficult to classify industry (3)
Industries cannot be casually identified and classified.

· Diversified lines of business cause classification problems.

· Industries continue to become more mixed in their activities and less identifiable with on product or service.

Difference b/w bottom approach and top down (5)
Bottom-Up Approach to Fundamental Analysis:
With the bottom-up approach, investors focus directly on a company’s basics, or fundamentals. Analysis of such information as the company’s products, its competitive position, and its financial status leads to an estimate of the company’s earnings potential and, ultimately, its value in the, market. The emphasis in this approach is on finding companies with good long-term growth prospects, and making accurate earnings estimates.

Top-Down Approach to Fundamental Analysis:

The top-down approach is the opposite of the bottom-up approach. Investors begin with the economy and the overall market, considering such important factors as interest rates and inflation. The next consider future industry prospects or sectors of the economy that are likely to do particularly well (particularly poorly). Finally, having decided that macro factors are favorable to investing, and having determined which parts of the overall economy are likely to perform well, individual companies are analyzed.

Relationship b/w Technical and Fundamental analysis (5)

Fundamental vs. Technical

· Fundamental analysts believe securities are priced according to fundamental economic data.

· Technical analysts think supply and demand factors play the most important part.

· We cannot ignore Technical Analysis aspect of analyzing company.

· Technical Analysis compliments the Fundamental Analysis.

· Fundamental Analysis is suitable for long term investments.

· Technical Analysis is suitable for short term investments
Paper#08
Fin630 Midterm Current Paper (Dec 2010)
What is the difference between a load fund and non-load fund? 3 marks

A mutual fund in which shares are sold without a commission or sales charge is known as non-load fund. The reason for this is that the shares are distributed directly by the investment company, instead of going through a secondary party. This is the opposite of a load fund, which charges a commission at the time of the fund's purchase, at the time of its sale, or as a "level-load" for as long as the investor holds the fund. 

2. Why P/E ratios tend to be high when interest rate and inflation is low? 3 marks
P/E ratios tend to be high when inflation and interest rates are low because when earnings are growing and the upward profit trend appears to be sustainable; investors are willing to pay, more for today’s earnings. P/E ratios and interest rates are indirectly related

4. Why there is a need of technical analysis when fundamental analysis studies everything from the overall economy and industry condition to the financial condition and management of companies? 5 marks

Technical analysis is based on published market data and focuses on internal factors by analyzing movements in the aggregate market, industry average, or stock. (Suitable for short term investments) 

The focus of technical analysis is on identifying changes in the direction of stock prices which tend to move in trends as the stock price adjusts to a new equilibrium level. These trends can be analyzed, and changes in trends detected, by studying the action of price movements and trading volume across time. The emphasis is on likely price changes.

Technicians, attempt to assess the overall situation concerning stocks by analyzing technical indicators, such as breadth of market data, market sentiment, momentum, and other indicators.
5. State any 5 objectives of studying balance sheet in fundamental analysis. 5 marks
Paper#09
Fin630 Midterm Current Paper (Dec 2010)
1. What is meant by NAV (Net Asset Value)? (Marks 3)

The value of a share of the mutual fund, known as the Net Asset Value (NAV), is calculated daily based on the total value of the fund divided by the number of shares purchased by investors.

2. Why P/E ratio tends to be high, when interest and inflation rates are low? (Marks 5)

3. State the five objectives of studying balance sheet in fundamental analysis? (Marks 5)

4. Keeping in view the business cycle, which type of industry is the most sensitive to economical changes? (Marks 5)

5. Determine how technical analysis is used in Dow Theory? (Marks 3)
Paper#10
Fin630 Midterm Current Paper (Dec 2010)
1- Write down the sources of information at library. (2)
Resources at the Library

· Economic financial Newspapers.

· Standard & Poor’s Publications.

· Mergent / Moody’s Publications.
They are competitors and their services largely duplicate each other. Standard & Poor’s and Moody’s publish easy-to-use reference material that can be found in most public libraries.
Company Information: 

· Annual Reports.

· SEC Filings.( Securities and Exchange Commission)
· The Prospectus.

· Objective.

2- Describe the implication of current yield at yield curve. (5)
The yield curve depicts the relationship between bond yields and time, holding the issuer constant, and in effect shows how interest rates vary across time on any given day.

It has long been recognized that the shape of the yield curve is related to the stage of the business cycle. In the early stages of an expansion, yield curves tend to be low and upward sloping and as the peak of the cycle approaches, yield curves tend to be high and downward sloping. More specifically:

· Upward sloping and steepening curve implies accelerating economic activity.

· Flat structure implies a slowing economy.

· Inverted curve may imply a recession.

3-Keeping in view the business cycle; describe which industries are least sensitive to changes in the economy? Give two examples.(3)
4-Investor will require lower expected rate of return for the investment carrying higher risk. Are you agreeing with this statement? Give logics for your answer. (5)
No, m not bcoz Risk and rate-of-return are directly related.
Greater the risk, higher will be required rate of return.

The higher the required rate of return for a particular investment the less investor would be willing to pay for the investment because of higher risk.

Investor’s can earn a riskless rate of return by investing in riskless assets such as Treasury bills.
Risk and rate-of-return are directly related. As the risk level of an investment increases, the potential return usually increases as well. As investors move up, they incur a greater risk of loss of principal along with the potential for higher returns.

Paper#11
Fin630 Midterm Current Paper (Dec 2010)
Q#19 Describe the various sources of information available at the Library? 
(3) 
Q#20 why it is difficult to classify industry? (3) 
Q#21 keeping in view the business cycle, describe which industries are most 
sensitive to changes in the economy? Give two examples (5) 
Q#22 why there is a need of Technical analysis, when fundamental analysts 
study everything from the overall economy and industry conditions to the 
financial condition and management of companies? (5) 
Q#23 Investors should lower the rate of expected return in order to adjust 
for higher risk in common stock. Do you agree with this statement? Justify 
FIN630 CURRENT PAPERS MAY 2011
Paper#01

Q: A company is paying $0.60 in dividends and the required rate of return is
6%. Company is selling the stocks at $ 12. Assume 2% growth rate. Figure out
the current value of the stock. By keeping in view your answer, Explain
whether the stock is overvalued or undervalued.
Repeated

Q: Outline the rationale for sector rotation?

Repeated
Q: Why it is difficult to classify industry?

Repeated
Q: Define Return on Equity (ROE)?

Return on Equity (ROE): It is key component in finding earnings and dividend growth.

Important to determine whether a company’s profitability is increasing or decreasing and why 

ROE is the accounting rate of return that stockholders are in on their portion of the total capital used to finance the company; in other words, the stockholder’s return on equity.

Paper#02

Q1 what is cooking of books? What the measure to avoid it 3

Repeated
Q2 what is meant by required rate of return 5

Repeated
Q3 what is the purpose of ratio analysis 5

Repeated
Paper#03 (All Repeated)
Q. Why is difficult to Classification for Industries?
Q. Discuss two components of rate of rate of return?
Q: Define Return on Equity (ROE)?
Q: Why you as investor would prefer investing in money market mutual funds

 Paper#04


29. What is the purpose of income statement? (3)

An Income Statement, also called a Profit and Loss Statement (P&L), is a financial statement for companies that indicates how Revenue (money received from the sale of products and services before expenses are taken out, also known as the "top line") is transformed into net income (the result after all revenues and expenses have been accounted for, also known as the "bottom line"). The purpose of the income statement is to show managers and investors whether the company made or lost money during the period being reported.


30. Why P/E ratios tend to be high when interest rate and inflation is low? (3)
Repeated

31. Differentiate value fund and growth fund (5)
VALUE INVESTING
· A value investor believes a security should only be purchases when the underlying fundamentals justify the purchase.

· The bottom line is value comes form utility; utility comes form a variety of sources.

· Value investors are willing to wait. 

· Value investing means you buy nothing based on future value… no bets on new products, earnings or sales. You’re trying to buy a Rs.100 stock for Rs.50 today.

GROWTH INVESTING
· Investors want quick return.

· A Growth investor seeks rapidly growing companies.

· Growth investors believe that a body in motion tends to stay in motion. Strong companies tend to get stronger.

· Growth company might not have historical perspective in background but it will find a place in the future depending on the product or industry belongs.

· Oil Exploration is one of the most key elements in any progress in a country. 


32. A company is paying $0.60 in dividends and the required rate of return is
6%.Company is selling the stocks at $12. Assume 2% growth rate. Figure out the
current value of the stock. By keeping in view your answer Explain whether the
stock is overvalued or undervalued. (5)

Paper#05 (Repeated)

29. What is meant by NAV? (3)
30. Forget it
31. Differentiate value fund and growth fund (5)
32. A company is paying $0.60 in dividends and the required rate of return is
6%.Company is selling the stocks at $12. Assume 2% growth rate. Figure out the
current value of the stock. By keeping in view your answer Explain whether the
stock is overvalued or undervalued. (5)

Paper#06
29. Outline the rationale for sector rotation? (3)
30. Describe the various sources of information available at the Library? (3)

31. keeping in view the business cycle, describe which industries are most affective to change in the economy? Give two examples. (5)
· Cyclical industries:

· Most affected by recessions and economic adversity.

· “Bought to be sold”.

· Counter-cyclical industries exist as well.

Durable goods are a good example of the products involved in cyclical industries. Autos, refrigerators, and stereos, for example, may be avidly sought when times are good, but such purchases may be postponed during a recession, because consumers can often make do with the old units.


32. Define short selling and describe the procedure of short selling in detail. (5)

Paper#07
29. Explain two components of required rate of return? (3)
30. Outline the rationale for sector rotation? (3)
31. Liquidity ratios (5)
Liquidity ratios are all designed to measure a company's ability to cover its short-term obligations. 

1. Current Ratio: Current Ratio measures a firm's ability to pay their current obligations. Current Ratio = Current Assets/Current Liabilities
Working Capital = Current Assets - Current Liabilities
2. Acid Test or Quick Ratio: Acid Test or Quick Ratio is very similar to the Current Ratio except for the fact that it excludes inventory. For this reason, it's also a more conservative ratio. 

Acid test = (Current Assets – Inventory)/ Current Liabilities


32. Stock price vs. (incomplete ( ) 5 marks

Paper#08

*What is the purpose of Industry analysis (Marks 5)*

Industry analysis is a vital part of the decision-making process in business. Most corporations, venture capitalists, entrepreneurs and investors do not make any decisions without conducting an industry study. Industry analysis requires decision makers to understand the economy and the industry before taking key decisions. The knowledge of economy and industry improves the quality of business decisions. It enables decision makers to put business issues in perspective.

Industry analysis also helps investors take better decisions. Governments worldwide are also finding industry analysis useful in assessing the effectiveness of their policies and formulating pro-growth policies. Industry analysis also helps entrepreneurs to iron out the wrinkles in their business plans.

In short, the purpose of the general industry analysis is to provide an understanding of the industry. Equity analysts, for instance, periodically come out with industry reports, which help their clients put stock-specific recommendations in the proper context.

*Is Income statement important in fundamental analysis? (Marks 5)*

Income Statement:

This statement is used more frequently by investors, not only to assess current management performance but also as a guide to the company's future profitability. The income statement represents flows for a particular period, usually one year.

The key item for investors on the income statement is the after-tax net Income, which, divided by the number of common shares outstanding, produces earnings per share.

Earnings from continuing operations typically are used to judge the company's success and are almost always the earnings reported in the financial press. Nonrecurring earnings, such as net extraordinary items that arise from unusual and infrequently occurring transactions, ate separated from income from continuing operations.

What is the purpose of income statement? (Marks 3)*
Why Industry analysis is difficult? (Marks 3)*


Paper#9

28 MCQs 80% from past Papers
Subjective Questions
Q1 What is cooking of books? what the measure to avoid it (3 Marks)
Q2 Write down the sources of information at library (3 Marks)
Q3 Importance of Income Statement in Fundamental Analysis (5 Marks)
Q4 What are value funds and growth funds? (5 Marks)

Paper#10
Question No: 31 ( Marks: 3 )

Why you as investor would prefer investing in money market mutual funds(3)

Question No: 32 ( Marks: 3)

RELATIONSHIP OF INTREST RATE WITH …

Question No: 32 ( Marks: 5 )

1 QUESTION IS ABOUT FUNDANMENTAL ALANYSIS MARKS 5

Fundamental analyst at the company level involves analyzing basic financial variables in order to estimate the company's intrinsic value. These variables include sales, profit margins, depreciation, the tax rate, sources of financing, asset utilization, and other factors.

Additional analysis could involve the firm's competitive position in its industry, labor relations, technological changes, management, foreign competition, and so on. The end result of fundamental analysis at the company level is a good understanding of the company's financial variables and an assessment of the estimated value and potential of the company.

Question No: 32 ( Marks: 5 )

A company is paying $0.60 in dividends and the required rate of return is 6%.Company is selling the stocks at $12. Assume 2% growth rate. Figure out the current value of the stock. By keeping in view your answer. Explain whether the stock is overvalued or undervalued.

Paper#11
Question No: 29 ( Marks: 1 ) - Please choose one

Why P/E ratio tends to be high, when interest and inflation rates are low?

(Marks 5)

Question No: 30 ( Marks: 1 ) - Please choose one (3)

Define return on equity ROE. 

Question no: 32 ( marks: 5 )

State any five1objectives of studying balance sheet in fundamental analysis?

Question No: 32 ( Marks: 5 )

A company is paying $0.60 in dividends and the required rate of return is 6%.Company is selling the stocks at $12. Assume 2% growth rate. Figure out the current value of the stock. By keeping in view your answer. Explain whether the stock is overvalued or undervalued.

